Name: Practice
Econ 310 F07 
Exam 04, 2008
· There are 110 possible points on this exam, but the exam is out of 100. 

· You have two hours and forty-five minutes to complete this exam, but you should be able to finish it in less than that.

· Please turn off all cell phones and other electronic equipment.

· You are allowed a calculator for the exam.

· Be sure to read all instructions and questions carefully.

· You are allowed one 3’’ x 5’’ note card to assist you in the exam. 

· Remember to show all your work.

· Recall basic logic. “Water is wet” is a true statement. “Water is wet and leopards have stripes” is a false statement.

· Please print clearly and neatly.
Part I: Multiple Choice. Circle the letter that corresponds to the best answer. 3 points each.
1. Which of the following is not a function of money?

a. As a way to easily assess how much an item is worth.

b. As a common denominator that is always included in exchanges.

c. As something which will rot, decay, or unavoidably loose value over time.

d. A & C

e. None of the above

If it will rot or decay, it won’t work well as money. Eggs aren’t a good currency. Option (A), as well as (B), are established functions of money (unit of account and store of value, respectively).
2. A friend of mine, after getting quickly involved with someone only to have it turn out disastrously, has decided to take things much more slowly with future dates. We can describe her attitude to relationships as being more:
a. Concerned about opportunity cost.
b. Risk averse.
c. Willing to assuage screening.
d. B & C

e. None of the above

My friend’s greater interest in avoiding risk captures her great risk aversion when it comes to dating. Option (C) cannot work—if she was less interested in screening why would she be more risk averse? Nothing in the scenario suggests she’s concerned about opportunity costs.
3. Why is the divisor of the DJIA not thirty?
a. Because the DJIA is based on the stock prices of twelve firms, not thirty.

b. Because the DJIA follows the prices of stocks and not how many stocks there are.
c. Because Dow components experience stock splits.

d. B & C

e. None of the above

The DJIA only follows stock prices and so when there are stock splits, the divisor needs to change to keep the average constant across splits.
4. What is the key goal of the central bank?

a. Stability.

b. Full employment.

c. Avoiding the time inconsistency problem.

d. A & B

e. None of the above

To foster a reliable arena for investment planning, this goal is a constant theme in our discussions of the Fed.
5. What did the Ducktales episode “Dough Ray Me” (the one we watched in class) illustrate?
a. There’s no such thing as a free lunch.

b. Inflation is everywhere and always a monetary phenomenon.

c. Money illusion—at least for the citizens of Duckburg—is constant and powerful.
d. A & B

e. None of the above

Not only did it show that “printing” money beyond what is demanded causes inflation, that inflation cancels any gain the new money made. TANSTAALF.
6. The purchasing power parity (PPP):

a. Says prices between identical goods in different countries will converge.

b. References a basket of goods to determine how much a currency can buy.

c. Is not connected with the exchange rate.

d. B & C

e. None of the above

Option (B) is true by definition. (A) is a reference to the law of one price and in (C) the opposite holds.
7. New public data tends to be reflected in stock prices within seconds of its release. What does this suggest about the stock market?
a. The efficient market hypothesis is a reasonable theory.
b. The stock market is replete with noise.

c. Free markets, under circumstances of perfect competition, punish success.
d. A & C

e. None of the above

Profit opportunities don’t last long, as the EMH predicts. There is nothing about punishing success here.
8. Under ordinary circumstances, a typical rational person would likely do which of the following?
a. Calculate their reservation price for every good they buy.
b. Use chainsaws for their first juggling lesson.
c. Roll dice to determine how much to save for retirement.
d. A & B

e. None of the above

Most don’t calculate their reservation price—it’s too expensive and there’s little point in doing so. Option (B) is stupid dangerous and there’s little benefit to (C) especially considering the importance of retirement planning.
9. LTCM’s strategy was based on the idea that:
a. The Fed would bail them out if they screwed up.
b. Prices converge.
c. In times of crisis, people will panic.
d. A & C

e. None of the above

LTCM’s strategy was based on the notion that people will mechanically respond to macro changes, causing prices to converge across countries (as in the law of one price).
10. In When Genius Failed, how did “free markets punish success?” (p96)

a. LTCM went bankrupt.

b. Banks stopped lending them money.

c. Everyone copied the firm’s basic strategy.

d. A & C

e. None of the above
When LTCM went bankrupt, they weren’t being successful. It was when everyone else picking up the same easy money they were when we saw the free market punishing success.
11. A long put is a bet that the price of the underlying asset will:

a. Fall below the strike price

b. Fall below the contract price

c. Rise above the strike price

d. A & B
e. None of the above

Though technically it needs to fall below the strike + contract price to make a profit.
12. The partners at LTCM treated the financial world as fundamentally:
a. Unpredictable
b. Organic

c. Mechanical

d. B & C
e. None of the above

As the story progressed the partners discovered well established investors who felt a more organic market was better suited for the models, but the partners never swayed from their clockwork-like assumptions of the financial world.
13. Why did LTCM lose so much money during its fall and collapse?
a. Because they bet prices were falling.

b. Because they leveraged their bets.

c. Because prices diverged.

d. B & C

e. None of the above.

They never bet that prices would fall, only converge. However this bet paid little so they made it over and over again (leveraging). When prices diverged, they lost money over and over again.
14. What lesson(s) did the founders of LTCM likely learn at the end of When Genius Failed?
a. It is not possible to completely capture the financial world with a mathematical equation.
b. Mortgage rates issued in very different regions are still connected somehow.
c. Greed and fear cannot be captured in economic models, though these human factors are critical.
d. A & C

e. None of the above

They learned very little at the end of the book. Meriwether seemed to feel that all one needs is more variables in the model but that’s likely either very naïve or very useless (you can’t have all important variables in; it’s impractical).
Part II: True/False. Answer true or false and justify your response. 6 points each.

15. If the goal is for you to understand the material in this class long after the class is over, allowing you to have a note card for the exams creates a moral hazard.
True. Relying on a note card and internalizing the information are substitutes. If people know they can swap one for the other, they will (to varying degrees). While for some the note card reinforces the material, there are those that respond to the incentive to shirk on learning the material and rely on the card as a crutch rather than a complement.
16. If it snows today, a person with rational expectations believes it will snow tomorrow.
True. A person with rational expectations will update with the latest information and since the best guess for tomorrow is what the facts are today, the statement holds.
17. The CIA reports claiming Saddam Hussein had weapons of mass destruction was an example of noise.
True. The CIA either interpreted their information incorrectly or received bad information. Their conclusion that Hussein had WMDs when he did not was noise.

OR

False. The CIA had good data and interpretation. Hussein did have WMDs but moved or destroyed them after the invasion. They reported information, not noise.
Part III: Short Answer. Answer the following. 10 points each.

18. Suppose Donald Trump approached you with an exciting new business deal to construct a luxury outhouse. You would have to pay him $100,000 now and he’ll return your money plus an additional $15,000 in three years (assume you have the money make this investment). The current interest rate is 5%. Setting aside issues of risk and inflation, use the present value equation to determine if his offer is a good deal.
CF / (1+i)n = PV

$115,000/(1.05)3 = $99,341.32
Trump is selling something for $100,000 that is only worth $99,341.32; it is not a good investment deal.
19. Consider an existing index with three stocks: Macrohard, Goggle, and Archway Computers with stock prices of $44, $60, and $36, respectively. Suppose the divisor of the index is 2.5. What is the value of the index? If Goggle issued a stock split and the volume of its stock tripled, what would be the new value of the index? What would be the new divisor?
(44 + 60 + 36) / 2.5 = 56 (pre-split value)
56 remains post-split value

(44 + 20 + 36) / x = 56

100 / 56 = x

1.786 = x, the new divisor
20. Using the information below, diagram the short strip strategy for options. Be sure to label the minimum and/or maximum profits and the break even point(s).

	5,000 troy ounces of gold

	Strike price
	Call (Jan)
	Put (Jan)

	100
	$1.12
	$0.86



[image: image1]
21. Using the information below, diagram a bull spread strategy for options. Be sure to label the minimum and/or maximum profits and the break even point(s).

	5,000 troy ounces of gold

	Strike price
	Call (Jan)

	100
	$1.70

	110
	$0.60



[image: image2]
22. Was the Federal Reserve justified in its role in preventing the bankruptcy of LTCM? In answering this question, be sure to address issues of moral hazard and the key goal of the central bank.
I don’t believe it was justified. The moral hazard created in preventing the bankruptcy encourages too much risk taking, dissuading investors from more likely (but less profitable) areas of investment. By removing the pain of ultimate failure the Fed encourages over-investment in risky areas. Investment disasters can incur wide-spread problems elsewhere, particularly if they are strongly integrated with the rest of the financial sector. These nightmare scenarios generate instability and thus a lack of investment. Without a federal safety net, it is likely that people will become over-protective of their investments and under-invest. However the less investment in high-risk areas would make the nightmare scenario less likely and thus fewer resources would be spent to protection. On net, the impact would be positive for economic growth though it is admittedly difficult to tell for sure.
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